Year 5 Homework, Autumn Term Week 3 3
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1. What is 5432 rounded to
the nearest hundred?

2. What is 32.1 = 10?

3. What is the value of the
underlined digit? 5433?

4, 2299 + 2211 =

5. 877 -688 =

6. 33x6 =

Maths: Speedy Six \

1. What is 76991 rounded to the
nearest ten thousand?

2. What is 9873.2 + 1000?

3. What is the value of the
underlined digit? 4,543,221?

4. 334+ 32.77 =

5. 7554.2 -544.6 =

6. 458 x7 =
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Times Tables

If you have been given a times table book, you need to practise your 4s. Remember that you
can also use TT Rockstars to help. If you haven’t been given a booklet, you need to generally
keep up practise of all of the times tables.

/ Spellings

women
antenna
antennae
formula
formulae
immediate
immediately

Support
cooks

cooked
cooking
jumped
jumps
jumping
worked
working
think
before
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Optional SPAG question (1 housepoint if completed)

In which sentence is lock a verb?

Tick one.

Aisha closed the box and fastened the lock. [

Make sure you lock the gate before you leave.

| think | need to buy a new bike lock.

The lock can only be opened with this special key.

Homework is due in on 28th September.



